Case Study Analysis – Student #1


Questions
1. What improvements has the hybrid Scrum approach provided over the previous Waterfall approach used at Solution Point?

Despite facing some challenges, the team is doing much better with the new hybrid Scrum approach, most likely because their morale has improved. They are having standup meetings so they are probably talking with each other more than before. This is helping them get the project done faster.


2. What are the challenges or problems that Milton is facing at the end of the case?

The project is behind schedule and the standup meetings are not as effective as they used to be.


3. What are some adjustments Solution Point could make to their hybrid scrum approach to make it more effective?

They should start following all of the Scrum rules completely. They should have Sprint planning meetings, retrospectives, and daily scrums, and make sure they have a product owner on site.


4. Given what you know about the company, how might the key stakeholders react if Milton suggests your proposed changes? Are there any risks for him personally?

I think they would want to make these changes, because it will help the project be more successful. If they don’t make any changes, they probably won’t be able to make their deadlines, so they wouldn’t get any additional contracts.

In addition, their current process has so many problems that it is a complete disaster. If they are going to use a Waterfall methodology, they should go all in with it, and follow it to the letter. Trying to do Scrum and Waterfall together is a bad approach that will just bring more and more problems the longer they try.



